00000 IdO Nod4

100 14000
ooooo oo-x

4.2 00 OO0

0000 6,0000000000.00000000000000000000000. 0000
0000D000000000000000.
0006€6,0,00i00(Gi)00000000.0000010+(1)00000.00,1#0(1)
000,00000 (10(1))00000000000 03:=(1c(1)e000. 000 o5(1) =10
000.0000,0100000,{2,...,n}00000.000¢(1)=100,0,=0c000.00
20 0»(2)0000,00000000000020000000000.0000 (20(2))000
000000000,106,00000000,00000001000000.000+0000
00000000000000,102000000.00000003,4,...000000000,
0000000000 n0%m,...,n00c0000000000,{1,2,...,n}00000000
0,00000001,000000.00000, 7 -mo=1, 000000 rrp---7p, O
oooo,

g =T1T2" " Tp

goo.oogboboobobdy7bobobobooboboboobo.boobobooboo
gbO,000000000000000O0,00b0000000000O0A0.

00 32 (0 1pt.) 00O 63000 cOOOOOOODO.

1 2 3 1 2 3 1 2 3 1 23
(1).(7:(1 5 2>7(2)-0=<3 ) 1>7(3)~0’=<2 3 1)’(4)'02(1 2 3>'

00 33 (0 1pt.) 00 6,000 c00000OODO.

12 3 4 12 3 4 12 3 4 12 3 4
(1)'U:<4 3 2 1)’(2)'0:<3 2 4 1)’(3)'0:<2 43 1)’(4)'0:<4 1 2 3

00o00ooooO0ooooooo s;=3Gée+1)000000. OO sy,...,8,1 000000000
gobo.oboboooobbuooubbuooobboo, bbb s b0oobbbooobobbooooboo
|:||:|.DDDDDDDDDD781$281:(13),8182838281:(14)DDD.

oo 34(2pt.) 1<i<y<nU0O0000,00000000000:
(i J) = SiSit1---8j—25j-15j—2 " Si+15,
odjyj=¢:+10000,000 s, 00O0DODOOOO.

gobooooboooooo,0obobooboooobooon s,..,s,a00boooooooooon.
oboocoooboobooboboooboooobO,0bobo0ooobooooobo0oboobo.oboooon
00000000 (parity) U,c 000000000, 000, 020000000000000
O,c=7-T=m-7, 000,n0000000mO00O0O0,n0000000 mOOO,0O
ooooooo.

0000000000 00O00000oo0oUoO, 00000000000 Uo(@ouoouo)o
googoboobooboobuooboobon.

*http://www.ma.noda.tus.ac.jp/u/rto/sched.html
T{l,...,n—l}DDDDDDDDDD,DDDD nO00000000,000000»,—-100000.

) |



4.3 0DO0O0OOO

000 parity 0000 0000000000000 0. 00000000,00000000000
oooo0o0o0o0ooo.

000000 -,00000000 A:=Z[z,...,2,]000.00€6,(h00000 00000
0.,000000000000)0000,n(0):A—A00D0000. p=p(z1,...,2,) € ADD
00, 7(0)p = p(Te)s- -, Tomy) 000 000000000 7(o)p0, 0000 pOOOOD
00 2,0 2,3 000000000000. 0000 p=2;€ A0D, n(o)p = 2,4 000.

00 35 (0 1pt.) 00 0 €6y, pe ADDDD, n(o)p0000:

1 2 3 4 1 2 3 4
(1).0(2 - 1>,px%(x3+x4)+:cg, (2).0(3 41 2),px1x2+x2x§.

0000000 7(0): A—AD,0000000000000.
00 36 (0 1pt.) pge A, c€cZ0000,0000:

(D). w(0)(p+q) = w(o)p+m(0)g, (2). w(0)(pg) = 7(o)p-7(0)g, (3). 7(0)(cp) = em(o)p-

0000 #(e) 000000000 DOO0OOOOOCOOOO.00DOO0OO0OOO0O0O0ODOsOOOO
0000,00000000000.00000000 7(0):A—-AOw(r):A—AO00O0O0O
00000,0000 n(o)on(r): A—-ADD0DO000. 000 w(e7): A—AO0D0DDODODOS.

00 37 (2pt.) 0,7€6,0000,0000000:
(o) om(T) = 7w(oT).
o0oo0ooooooooooog. A=2Z[r,...,2,) 000000000 A,000000:

An: H (ZL’i—l'j).

1<i<j<n

ooool1oon0000000,:<y00q, j000000000O0O0OODODODOOOODO. O
0000000 n(n—1)/2000. 000 A, 000 (difference product) J00. 0000 n =2
DD,A2=$1—$2DDD,HZ3DD Agz(.131—.132)(1,‘1—1‘3)(1‘2—1}3)DDD.

00 38 (0 1pt.) n=4,50000,0000000 (00D0O0O0O00D0).
D00 n=2000,s=(12 00000 n(s1)A, 000000,
m(s1)A2 = 7(s1)(x1 — x2) = 29 — 11 = — Ay,
O00n=3000,5=(23)0000
m(s1)Az = m(s1)((w1 — 22) (21 — 23) (22 — 73)) = (21 — 23) (21 — T2) (23 — w2) = —As3.
dobodbooobooboobooboo.
00 39 (2pt.) OO s, =(ii+1) €6, 0000, n(s)Ad, =-A, 00000000.

ooooooDo 34,370oogooo.

00 40 (Ipt.) 7€6,0000000, 7(1)4, = —A,.

ir(c) 000000000 n(e)(p) 0000000, 00 n(o)p00DD0.
$000,00000000000000000,003700000000000000000000.




0000 paity 000000DO.

00 41 (1pt.) 00 0o €6, 00000 7y,...,7 0 7,...,7,, 0000, 0=T1-Tp =11 Th,
0200000000000, (-)"=(-1)"00000.000n0 mO parityDOOODO.

00 42 20000,6,0n0000000.

e 10 0c€6,0,000000000000000O0O0O (even permutation) 000, 0000
0000000000000 (odd permuation) 000 .

e U0 sgn: 6, —{-1,1}0 c000000 sgn(o)=1,00000 sgn(o)=—-10000. 0O
O sgn(o)0 o00DO (sign) 000,00 sgn: 6, — {—1,1} 00000 (sign representation)
goo.

gooobobboooooo.
m(0)A, =sgn(o)A,.

obooooOoboooobobooobo.ooooboboooooboooooa.
00 42 (Ipt.) 00 0,7 €6, 0000,0000000:

sgn(l,) =1, sgn(or) = sgn(o)sgn(r).
00 43 (1pt.) OOOO.

(1) 6,00000000000.

(2 D00U0C00OO0,0000000.000000CODOO.

00 44 (2pt.) 000D,
(1) 6,00000000000.

(2 D0O0UC0OO0,0000000.000000CODOO.

00 45 (2pt.) 6, 0000000000000 O0OO0OOOOUOOO. D0OO0OOOOOOO.

ooooboo4220000,00b00boboooboooooboboooDg.
OO0 46 (3pt.) oooooYf:6,—-RO0042000,000

fy) =1, flor)=f(o)f(r), 0.7 €&,
0000000.0000:
(1) 00 70000, f(r)=1000 f(r)= -1
(2) 20000 70,0000, f(n) = f(r2).
(3) 00 0000000000 DO0:

e 0000 0e6,0000 flo)=1.

e 0000 0e6,0000 f(o)

sgn(o).

ocooo 6, 00000000D0000DDO0O0 A, 000.

foooDoDooDOoDOOO0O0OO0DODODOOO.



00 47 (0 1pt.) 00 A, 00000000:

(1) A,00000000000,000 0,7€A, 000 o7 €A,

(2) 2, 000000000000,0000€A,000 07!e,.
(3) %, 00000000:000€N,,7€6,000, 707 e,

0(1),(2) 00000 A, 000000 (alternating group) 00 0. (3)0 A, 0 &,00000
000000000000.000000000,0000000000000000000.

00 43 n000000,00000 Z[zy,...,2,)00 6,000 x0000.

e 000 pOODODOON (symmetric polynomial) 00000, n(o)p=p0 0000 0 €6, O
DoO0ooO00O0oo0.

e 00 pODOOOOO (alternating polynomial) 00000, w(o)p = sgn(o)p DO OO0
ce G, 000000DO0OO.

00 48 (1pt.) 00 Zlz1, 22,25 0000000, 00000000.
(1). 1 + 2o + 23, (2). 21 + 20 + 23, (3). xlwsal(x? + 23 +23), (4). (v1 + x2 — 13)%
00 49 (2pt.) 00DOOOODO.
o peZz,...,z,) 000000000
e 00DDO0DO g€ Zar,...,2,) 0000, p=qA, 0000.

0000o00o000o0o0oO0UoOo0O00,000o0000000U000O0O0ULO0 (ooOo
00000)0,000000000000000O0000OAO.

00 50 (2pt.) 00O pé€Zxy,...,2,] 0000,000000 S(p), AS(p) € Z[x1,..., 2] O

S(p) := Z w(o)p, AS(p):= Z sgn(o)m(o)p

ceEG, ceG,

0o000.o000,S(p 000000, AS(p)0000O0OU0ODOOOOODO.
00 51 (1pt.) p= 17 € Zlz1,22,23] 000, Sp) 0 AS(p) 0000
00 52 (1pt.) p=xaxs € Z[z1,22,23) 000, S(p) 0 AS(p) OO DDO.

00 53 (1pt.) 000 p € Zfa,...,2,]000000000, 2, =0000000 p(ay,...,2n_1,0)
0 Z[z,...,2,-1)00000000000000.

gooboboboobobooboooo,obooboobooboobooboobboboboob,od
gboooboooooboobooog.

oogd
[0]0000,00000,0000.

[0] 00 0,000000000 LIL,OOOO.

lDoDooDOO0OD0OO0. 000000000000000000.



